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Graphing Linear Equations Review 

1) What is the slope of the line joining (10, 6) and (30, 10)? 

a)  
[image: image31.png]



b) 5

c) 
[image: image2.wmf]5

1


d) -5

2) What is the slope of the line whose equation is 2y = 5x + 4? 

a) 2

b) 5

c) 
[image: image3.wmf]5
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d) 
[image: image4.wmf]2
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3) Which of the following sets of ordered pairs are all solutions to the equation     2y + x = 2? 

a) (-10, 6), (2, 0), (-18, -8) 

b) (-10, -6), (2, 0), (18, -8) 

c) (-10, 6), (2, 0), (18, -8) 

d) (-10, 6), (-2, 0), (18, -8) 

4) What is the slope of line l?
[image: image5.png]



a) 
[image: image6.wmf]3
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b) 
[image: image7.wmf]3
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c) 
[image: image8.wmf]2

3

-


d) 
[image: image9.wmf]2
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5) What is the slope of the line joining (2, -3) and (-4, -3)? 

a)  
[image: image10.wmf]7
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b) 0

c) No slope 

d) 
[image: image11.wmf]5
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6) Which of the following represents the graph of the equation y = -3? 
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7) Determine the y-intercept of the line graphed below. 
[image: image13.png]yp y=4x-3
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a) -3

b) 3

c) -4

d) 4

8) The table below represents which equation? 

	x
	-1
	0
	1
	2

	y
	-10
	-6
	-2
	2


a) y = -x – 10 

b) y = -6x 

c) y = 4x – 6 

d) y = -4x + 2 

9) Solve f = 9gh for h. 

10) Solve x – 2y = 15 for y 

11) Solve q = r + rst for s

12) Solve 
[image: image14.wmf]fk
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for k
13) Solve P = c + b + a for c
14) Find the slope and the y – intercept of the following equation without graphing it.  4x + y = 5 

15) [image: image1.wmf]5
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Graph the following equation using a table of values y = -2x – 1 
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16) Graph the equation using slope intercept form y = x + 3 

17) [image: image29.png]


Graph the following equation x = 3 

[image: image30.png]



18) Identify the slope and the y-intercept and then graph the equation 4x = 3y + 6 

19) Identify the slope and the y-intercept and then graph the equation 5x = 2y – 8 



20) Identify the slope and the y-intercept and then graph the equation 5 – 5y = 4x  

Answers 

1) C
2) D

3) C

4) A

5) B

6) D

7) A

8) C

9) 
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10) 
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11) 
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12) 
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13) P – b – a = c 

14) y = -4x + 5 


m = -4 


b = 5 

15) [image: image19.png]



16) [image: image20.png]



17) [image: image21.png]



18) 
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m = 
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b = -2


19) 
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m = 
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b = 4 


20) 
[image: image26.wmf]1
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m = 
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b = 1 
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